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I Suppose that a and b are two elements of a field F . Using
only the axioms for a field, prove that ∀a ∈ F , 0a = 0.

I 0 + 0 = 0

I (0 + 0)a = 0a

I 0a + 0a = 0a

I 0a + 0a + (−0a) = 0a + (−0a)

I 0a + 0 = 0

I 0a = 0
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I Suppose that a and b are two elements of a field F . Using
only the axioms for a field, prove that if ab = 0, then either a
or b must be 0.

I Either a = 0 or a 6= 0

I ...



I Suppose that a and b are two elements of a field F . Using
only the axioms for a field, prove the additive inverse of a is
unique.

I ...


